
 

Logical Reasoning
Picturing

© 2020 Nicholas Pope

The moon set at 2:30 am on the
night the robbery occurred.

2:302:001:30

1. Premises

2. Conclusion

3. Assumption

The light reached the robber,
or nothing blocked the light.

Whatever is not in the
premises but in the
conclusion is the
assumption

The robbery occured between
the times of 1:30 and 2:00 am. 
So the robber was illuminated enough
to be identified by a witness.

Before it sets, the moon reflects
enough light to identify a person.
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